Foyer 700 Air Control GA  cference sa7043



https://carre-lutz.com/acatalog/Pieces-detachees-pour-appareils-Invicta-p1.html
https://clpieces.com/pi%C3%A8ces-detach%C3%A9es-pour-appareil-de-chauffage-invicta

Foyer 700 Air Control GA

référence 647043

REP. DESIGNATIONS REFERENCES | QTE
1 |JOINT THERMOCORDE @12 Al303012 1.700
2 |JOINT THERMOCORDE 912 Al303012 2.700
2 [ VIS LOQUET AS610308 1
4 | RESSORT DE REGISTRE ASS(00112 1
5 |ENTRETOISE REGISTRE ASS(00113 1
6 |GACHE AT700358 1
7 | RONDELLE M6 AV4100060 4
8 |RONDELLE M8 AV4100080 1
9 |RONDELLE ONDUFLEX &8 AV417008 2
10 [CALE OBLIQUE AV4240080 4
11 |GOUPILLE CANNELEE @6x40 AV6306400 1
12 |GOUPILLE CANNELEE @6x50 AV6306500 1
13 [ECROU A EMBASE M5 AV7220050 6
14 [ECROU A EMBASE M6 AV 7220060 12
15 [VISTETE FRAISEE EMPREINTE HEXAGONALE Méx20 | AV8636200 2
16 [VISTETE FRAISEE EMPREINTE HEXAGONALE Méx30 | AV8636300 2
17 [VISTETE FRAISEE EMPREINTE HEXAGONALE Méx45 | AV8636450 2
18 [VISEMPREINTE CHC M8x40 AVE678400 1
18 [VITRE AX826471 1
20 | EMBASE F6709018 1
21 |FOND EXTERIEUR F6 709026 1
22 |COTE GAUCHE F6 709036 1
23 |COTE DROIT F6 709048 1
24 |FOND INTERIEUR F6 709058 1
25 |SOCLE D'AVALOIR F6 709066 1
26 |AVALOIR F670907B 1
27 |FACADE F6 709088 1
28 |SUPPORT DE GRILLE F6 709106 1
29 | GRILLE F670911B 2
20 |CHENET F670912B 1
21 | TAQUE F6 709136 1
32 | DEFLECTEUR F6 709148 1
33 | SOCLE USINE F670900U 1
24 | PORTE USINEE F670916U 1
35 | LOQUET USINE F670917U 1
36 |REGISTRE USINE F650176U 1
37 |ENTRETOISE DE FERMETURE AS6103206 1
28 |AXE DE FERMETURE AS700302 1
39 | TIRANT @6 AS700305 4
40 | CENDRIER AT700360 1
41 | PRESSE VERRE AT700361 2
42 |TOLE D'APPUI DU REGISTRE AT700362B8 1




